New Convergence Techniques for Identifying with Fixed Point by Nonexapnsive Mappings

D. P. Shukla¹* Vivek Tiwari²

¹ Department of Mathematics/Computer Science, Govt. Science College, Rewa (M.P.) 486001, India

² Research Scholar, Govt. Science College, Rewa (M.P.) 486001, India

Abstratct – This paper aimed to be generating new iterative outcomes and double step iterative techniques for recognizing of fixed points of nonexpansive mappings in Banach space. Encourage we demonstrate another iterative procedure, which is finer than different other existing iterative methods.

1. INTRODUCTION

We take a set E which is uniformly convex Banach space and E is the super set of C and C is closed convex set. In this paper, N indicates the set of all positive integers and G (T) = {x: Gx = x}. A mapping T: C \rightarrow C is called nonexpansive if $||Tx-Ty|| \leq ||x-y|| \forall x, y \in \mathbb{N}$. For any arbitrary we can take $x_1 \in C$, Generate a sequence { x_n }, where x_n is characterized by positive integer $n \geq 1$ as:

 $x_{n+1} = Tx_n, (i)$

Hear (i) known as Picard sequence.

$$x_{n+1} = (1 - \alpha_n)x_n + \alpha_n T x_n, \qquad \text{(ii)}$$

Here (ii) known as Mann [8] sequence.

$$\begin{cases} x_{n+1} = (1 - \alpha_n) x_n + \alpha_n T x_n, \\ y_n = (1 - \beta_n) x_n + \beta_n T x_n \end{cases}$$
(iii)

Here (iii) known as Ishikawa [5] sequence.

Ishikawa, Mann and other iteration methods have considered by few researchers for approximation fixed point of nonexpansive mapping [6, 11, 13-15].

Noor [9] defined iterative method by $x_1 \in C$, as follows:

$$x_{n+1} = (1 - \alpha_n) x_n + \alpha_n T y_n,$$

 $y_n = (1 - \beta_n) x_n + \beta_n T z_n$

$$z_n = (1 - \gamma_n) x_n + \gamma_n T x_n, \forall n \ge 1, \qquad (iv)$$

Where $\{\alpha_n\}, \{\beta_n\}$ and $\{\gamma_n\}$ are sequence in (0, 1).

Agrawal [2] in 2007 constructs accompanying strategy:

$$x_{n+1} = (1 - \alpha_n)Tx_n + \alpha_nTy_n,$$

$$y_n = (1 - \beta_n)x_n + \beta_nTx_n,$$
 (v)

Where $\{\alpha_n\}$ and $\{\beta_n\}$ are in (0, 1). They demonstrated that this scheme converges at equivalence comparatively as Picard schemes and it's comparatively finer than Mann iterative schemes for contration mappings.

Abbas et. al. [1] constructs the other following schemes, where sequence $\{x_n\}$ is generated from any arbitrary $x_1 \in C$

$$x_{n+1} = (1 - \alpha_n)Ty_n + \alpha_nTz_n,$$

$$y_n = (1 - \beta_n)Tx_n + \beta_nTz_n$$

$$z_n = (1 - \gamma_n)x_n + \gamma_nTx_n,$$
 (vi)

www.ignited.in

Where $\{\alpha_n\}, \{\beta_n\}$ and $\{\gamma_n\}$ are sequence in (0, 1). They proved that this scheme converges as finer than iterative techniques (v) [2].

Now, motivated by above all techniques we build another iterative process for determining the fixed point of nonexpansive mapping. Where sequence $\{x_n\}$ is generated by $x_1 \in C$ and written as follows:

$$\begin{array}{l} x_{n+1} = (1 - \alpha_n)Tx_n + \alpha_nTy_n, \\ y_n = (1 - \beta_n)x_n + \beta_nTx_n, \end{array}$$
 (vii)

The primary goal of this article to satisfies convergent outcomes for nonexpansive mappings by iteration (vii). We also show that iteration (vii) converges faster than various other iterative schemes.

2. PRELIMINARIES:

Consider K is a Banach space and $S_{K} = \{x \in K : ||x|| = 1\}$ is sphere on K having magnitude is identity. For all $\delta \in (0,1)$ and $x, y \in S_{K}$ with $x \neq y$, if $||(1-\delta)x + \delta y|| < 1$, then is said to be convex i.e. strictly convex Banach space. $||x|| = ||y|| = ||\alpha x + (1-\alpha)y||$ and $\alpha \in (0,1)$, then x= y.

Then space K is called smooth if $\lim_{t\to 0} \frac{\|x + ty\| - \|x\|}{t}.$

The space K is satisfies the Opial's condition [10] for every sequence $\{x_n\}$ in K, i.e

$$\limsup_{n \to \infty} \|x_n - x\| < \limsup_{n \to \infty} \|x_n - y\|$$

$$\forall y \in K \text{ with } x \neq y.$$

Definition 2.1 Assume that $\{r_n\}$ and $\{s_n\}$ are sequences that both sequences have limit point i.e both are converges to r and s. if $\lim_{n\to\infty} \frac{|r_n - r|}{|s_n - s|} = 0$, then $\{r_n\}$ converges faster than $\{s_n\}$.

Definition 2.2 Consider two fixed point iteration processes $\{p_n\}$ and $\{q_n\}$, both are conversing to

common fixed point at t, then the error estimates are as below:

$$\begin{split} \left\| p_n - t \right\| &\leq r_n \\ \left\| q_n - t \right\| &\leq s_n \text{ both are defined for } n \geq 1, \end{split}$$

Here $\{r_n\}$ and $\{s_n\}$ are two real sequences of positive number tends to 0. If $\{r_n\}$ converges finer than $\{s_n\}$, then $\{p_n\}$ is also finer than $\{u_n\}$ to t.

Here we will characterize a few lemmas for further uses in this paper which are as follows:

Lemma2.3 [4] Assume C is a nonempty closed convex subset of a uniformly convex Banach space K and T is a nonexpansive mapping on C. So I - T is demeclosed at 0.

Lemma 2.4[12] Consider E is a uniformly convex Banach space and $0 . Now <math>\{x_n\}$ and $\{y_n\}$ is the two sequences of E such that $\limsup_{n \leftarrow \infty} ||x_n|| \le r, \limsup_{n \to \infty} ||y_n|| \le r$ and

$$\begin{split} &\limsup_{n\to\infty} \left\| t_n x_n + (1-t_n) y_n \right\| = r, \text{hold for some} \\ &r \geq 0. \text{ Then } \lim_{n\to\infty} \left\| x_n - y_n \right\| = 0 \,. \end{split}$$

Lemma 2.5 [2] Assume that E be a reflexive Banach space fulfilling the Opial condition and a function T: C \rightarrow X such that I- T demiclosed at 0 and F (T) $\neq \phi$ where C is a convex subset of E. Let $\{x_n\}$ be a sequence in C such that $\lim_{n\to\infty} ||x_n - Tx_n|| = 0$ and $\lim_{n\to\infty} ||x_n - p||$ exist for all $p \in F(T)$. Then $\{x_n\}$ converges to a fixed point of T.

3. CONVERGENCE RATE

In this part, we will prove that iteration method (vii) converges finer than the other methods.

Theorem 3.1 Let we define a set E such that set E is normed linear space and there is the subset C of E, which is nonvoid closed convex set and let T be a constructive mapping included a factor $k \in (0,1)$ and fixed point p. Let $\{u_n\}$ be characterized by the iteration techniques (vi) and $\{x_n\}$ by (vii), where $\{\alpha_n\}$ and $\{\beta_n\}$ are in

Journal of Advances and Scholarly Researches in Allied Education Vol. 15, Issue No. 7, September-2018, ISSN 2230-7540

 $[\mathcal{E}, 1-\mathcal{E}] \forall n \in N \text{ and for some } \mathcal{E} \text{ in } (0, 1).$ So $\{x_n\}$ converges finer from $\{u_n\}$.

Proof: As demonstrated in Theorem 3 of M. Abbas and T. Nazir[1].

$$\|u_{n+1} - p\| \le k^n [1 - (1 - k)\alpha\beta\gamma]^n \|u_1 - p\|, n \in N.$$

Let $a_n = k^n \{1 - (1 - k)\alpha\beta\gamma\}^n \|u_1 - p\|$
 $\|y_n - p\| = \|(1 - \beta_n)x_n + \beta_n Tx_n - p\|$
 $\le (1 - \beta_n) \|x_n - p\| + \beta_n \|Tx_n - p\|$
 $= (1 - (1 - k)\beta_n) \|x_n - p\|$

Thus

$$\|x_{n+1} - p\| = \|(1 - \alpha_n)Tx_n + \alpha_nTy_n - p\|$$

$$\leq (1 - \alpha_n)\|Tx_n - p\| + \alpha_n\|Ty_n - p\|$$

$$\leq (1-\alpha_n) \|Tx_n - p\| + \alpha_n \| (1-\beta_n)x_n + \beta_n Tx_n - p\|$$

$$\leq (1-\alpha_n) \|Tx_n - p\| + \alpha_n (1-\beta_n) \|x_n - p\| + \alpha_n \beta_n \|Tx_n - p\|$$

$$\leq k\{1 - \alpha_n + \alpha_n(1 - (1 - k)\beta_n)\} \|x_n - p\|$$

= $k\{1 - (1 - k)\alpha_n\beta_n\} \|x_n - p\|.$

Suppose $b_n = k^n \{1 - (1 - k)\alpha\beta\}^n ||x_1 - p||$

$$\frac{b_n}{a_n} = \frac{k^n \{1 - (1 - k)\alpha\beta\}^n \|x_1 - p\|}{k^n \{1 - (1 - k)\alpha\beta\gamma\}^n \|u_1 - p\|} \to 0$$

as $n \rightarrow \infty$.

Consequently $\{x_n\}$ converges finer than $\{u_n\}$.

Theorem 3.2 Here we consider a self mapping T on set C and set C is nonvoid closed set. Now assume E as a normed linear space E where E is the super set of C, a sequence $\{x_n\}$ defined by (vii) and F $({\rm T}) \neq \phi \, . \, {\rm Then} \, \lim_{n \to \infty} \Bigl \| x_n - p \bigr \| \, {\rm exist \, for \, each } \, \, p \in F(T).$

Proof. Now by (vii), we have

$$\|y_{n} - p\| = \|(1 - \beta_{n})x_{n} + \beta_{n}Tx_{n} - p\|$$

$$\leq (1 - \beta_{n})\|x_{n} - p\| + \beta_{n}\|Tx_{n} - p\|$$

$$\leq (1 - \beta_{n})\|x_{n} - p\| + \beta_{n}\|x_{n} - p\|$$

$$= \|x_{n} - p\|$$
(viii) so

$$\|x_{n+1} - p\| = \|(1 - \alpha_n)Tx_n + \alpha_nTy_n - p\|$$

$$\leq (1 - \alpha_n)\|Tx_n - p\| + \alpha_n\|Ty_n - p\|$$

$$\leq (1 - \alpha_n)\|x_n - p\| + \alpha_n\|x_n - p\|$$

$$= \|x_n - p\|$$

(ix)

Thus $\lim_{n \to \infty} ||x_n - p||$ exists $\forall p \in F(T)$.

Theorem 3.3 Let we have a set E which is uniformly Banach space and E is the super set of C i.e $C \subseteq E$ where C is nonempty closed convex set. Let T be a nonexpansive self-mapping on C, and a sequence $\{x_n\}$ provided by (vii) and F (T) $\neq \phi$ then $\lim_{n\to\infty} \|x_n - Tx_n\| = 0.$

Proof By theorem 3.2 we have

$$\lim_{n\to\infty} \|x_n - p\| \text{ is exists.}$$

Then assume $\lim_{n\to\infty} ||x_n - p|| = c$.

By from (viii) and (ix) we have

$$\limsup_{n \to \infty} \|x_n - p\| \le c, \text{ and }$$

$$\limsup_{n \to \infty} \left\| y_n - p \right\| \le c \tag{(x)}$$

But T is a nonexpansive map so we have

$$||Tx_n - p|| \le ||x_n - p||$$
 and $||Ty_n - p|| \le ||y_n - p||$

After getting limsup on both sides,

$$\limsup_{n \to \infty} \left\| T x_n - p \right\| \le c \tag{xi}$$

And

$$\limsup_{n \to \infty} \|Ty_n - p\| \le c \tag{xii}$$

Since

$$\lim_{n \to \infty} \|x_{n+1} - p\| = \lim_{n \to \infty} \|(1 - \alpha_n)(Tx_n - p) + \alpha_n(Ty_n - p)\|$$

Hence by the using of lemma 2.4

$$\lim_{n\to\infty} \|x_n - y_n\| = 0.$$

Now,

$$\|x_{n+1} - p\| = \|(1 - \alpha_n)Tx_n + \alpha_nTy_n - p\|$$
$$\leq \|Tx_n - p\| + \alpha_n\|Tx_n - Ty_n\|$$

Yield that

$$\limsup_{n \to \infty} \|Tx_n - p\| \ge c \tag{xiii}$$

Now form (xi) and (xiii)

$$\lim_{n\to\infty} \|Tx_n-p\|=c,$$

additionally we have

$$||Ty_n - p|| \le ||Ty_n - Tx_n|| + ||Tx_n - p||$$

 $\le ||Ty_n - Tx_n|| + ||y_n - p||$

and

 $\limsup_{n \to \infty} \|Ty_n - p\| \ge c \tag{xiv}$

So from (xii) & (xiv) and

$$\liminf_{n\to\infty} \|y_n - p\| = c.$$

Now by utilizing the lemma 2.4, from we have

$$\lim_{n \to \infty} \|y_n - Ty_n\| = 0.$$

since $c = \lim_{n \to \infty} \|y_n - p\|$

$$= \lim_{n \to \infty} \left\| (1 - \beta_n) x_n + \beta_n T x_n - p \right\|$$

$$= \lim_{n \to \infty} \left\| (1 - \beta_n)(x_n - p) + \beta_n T x_n - p \right\|$$

Hence by the lemma 2.4

$$\lim_{n\to\infty} \|x_n - Tx_n\| = 0.$$

Hence the theorem is verified.

REFERENCE

- M. Abbas, T. Nazir (2014). Anew faster iterative process applied to constrained minimization and feasibility problems, Mathematicki Vesnik, 66 (2), pp. 223-234.
- [2] R.P. Agrawal, D.O' Regan, D. R.Sahu (2007). Iterative construction of fixed points of nearly asymptotically nonexpansive mappings, journal of Nonlinear and Convex Analysis 8(1) pp. 61-79.
- [3] V. Berinde (2004). Picard iteration converges faster than Mann iteration for a class of quasicontractive operators, Fixed point Theory and applications 2, pp. 97-105.
- [4] K. Goebel, W. A. Krik (1990). Topics in Metric Fixed point Theory, Cambridge studies in Advanced Mathematics, 28, Cambridge University Press.
- [5] S. Ishikawa (1974). Fixed points by a new iteration method, proceeding of the American Mathematical Society 44, pp. 147-150.
- [6] S. Ishikawa (1976). Fixed points and iteration of a nonexpansive mapping in a Banach space, Proceeding of the American Mathematical Society 59 (1) pp. 65-71.
- [7] M.A. Kranosel' ski (1955). Two observations about the method of successive approximations Uspenski Mathematiki Nauka 10, pp. 123-127.
- [8] W. R. Mann (1953). Mean value methods in iteration, Proceedings of the American Mathematical Society 4, pp. 506-510.
- [9] M. A. Noor (2000). New approximation schemes for general variational inequalities, Journal of Mathematical

www.ignited.in

Journal of Advances and Scholarly Researches in Allied Education Vol. 15, Issue No. 7, September-2018, ISSN 2230-7540

Analysis and Applications 251(1), pp. 217-229.

- [10] Z. Opial (1967). Weak convergence of the sequence of successive approximations for nonexpansive mappings. Bulletin of the American Mathematical society 73, pp. 591-597.
- [11] S. Reich (1979) Weak convergence theorems for nonexpansive mappings in Banach space, Jounal of Mathematical Analysis an Applications 67, pp. 274-276.
- [12] J. Schu (1991). Weak convergence to fixed points of asymptotically nonexpansive mappings, Bulletin of the Australian Mathematical Society 43, pp. 153-159.
- [13] F.Senter, W.G. Η. Dotson (1974). Approximating fixed points of nonexpansive mapping, Proceedings of the American Mathematical Society 44(2) pp. 375-380.
- [14] K.K. Tan, H. K. Xu (1993). Approximating fixed points of nonexpansive mappings by the Ishikawa iteration process, Journal of Mathematical Analysis and Applications 178, pp. 301-308.
- [15] L. C. Zeng (1998). A note on Approximating fixed points of nonexpansive mappings by the Ishikawa iteration process, Journal of Mathematical Analysis and Applications 226(1), pp. 245-250.

Corresponding Author

D. P. Shukla*

Department of Mathematics/Computer Science, Govt. Science College, Rewa (M.P.) 486001, India

E-Mail – shukladpmp@gmail.com